Puzzle 10450 - Tuesday, 24 February, 2015 - Difficulty 10

5 1 22 | (8 i 14"’3 25
3124 85}7}15:‘1 6| 9
:1787::'1”1727::1 % : i i : : ’1’7’1’"1:::: | |
816|731 19]4 5 2
% H ,iiiiii} i’3’iii ffffjf,: ‘1’6’i: ,iiiiifl : i i
91 516|243 8)7
: : 1’:’3’,’,’,’,,’,’,’,’,’:} ; :”2’1’111,::::{’: ib’i: —
1143567928
éé”” :iiiiii 1’%’,’: ::::fl : jl’s’iii: jlb’iiifffjff,:
21916148573,
9~ T T A T 19 1
153{7 819 32|61 4
! | 6’21111111::} éé’:ﬁ’l :1:57:: fff::;: ’1’?;1111 :
403|178 |6[29]5
:2767:: —— f::fff{i H ,iiiiii‘ ’71’::;
7151214918 ] 36
% 3’1"” ffffff{: | %’4’:” ———t—————
6|89 [2]5]3[7][4]1

Copyright (c) www.dailykillersudoku.com



